Project: East Reedley Bridge Replacements Contract No.: 24-07-C

Bidders

1 CAL Valley Construction, Inc., 5125 N Gates Avenue #102, Fresno, CA 93722

2 American Paving Co., 525 W. Alluvial Avenue, Fresno, CA 93711

3 MCM Construction, Inc., 6413 32 St., North Highlands, CA 95660

4 Viking Construction, 11315 Sunrise Gold Circle, Rancho Cordova, CA. 95742

CAL Valley Construction, Inc.

Subcontractors
AWP Safety
ABSL Construction
Specialized Pavement Marking
Midstate Barrier, Inc.
Kroeker, Inc.
CHAPCO Construction, LLC.

American Paving Co.

Subcontractors
AWP Safety
Tyrrell Resources, Inc.
CVE Demolition
Ace Fence Company
P C & N Construction, Inc.
Dees Burke Engineering Co

P C & N Construction, Inc.

Dees Burke Engineering Constructors, LL( Central Valley Reinforcing

Specialized Pavement Marking

Central Valley Reinforcing

Top Level Grading

MCM Construction, Inc.

Subcontractors
P C & N Construction, Inc.

Cal Valley Construction SPM

AWP Safety

Viking Construction

Subcontractors
Specialized Pavement Marking
AWP Safety
Central Valley Reinforcing
W. C. Maloney
Cal Valley Construction
PC&N Construction
PTyrrell Resources
Dees Burke

Scheduled Award Date: 08/20/24

Bid Opening: 07/11/24

				_					Central valley Reinford	ang			Dees Burke	
	ley Main Cana ans Bridge 42				Engineer's Es	timate	1		2		3		4	
ITEM NO.	QUANTITY	UNIT OF MEASURE	F, S	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)								
1	2	EA		Construction Project Funding Signs	\$ 2,500.00	\$ 5,000.00	\$1,650.00	\$3,300.00	\$1,650.00	\$3,300.00	\$1,700.00	\$3,400.00	\$2,000.00	\$4,000.00
2	1	LS		Builder's All-Risk Insurance	\$ 10,000.00	\$ 10,000.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$20,000.00	\$20,000.00
3	1	LS		Federal Trainee Program	\$ 1,330.00	\$ 1,330.00	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00	\$1,400.00	\$1,400.00	\$2,500.00	\$2,500.00
4	1,000	\$		AID Inspection Fee	\$ 1.00	\$ 1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00
5	1	LS		Bird Exclusion Plan	\$ 5,000.00	\$ 5,000.00	\$750.00	\$750.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
6	1	LS		Install and Maintain Bird Exclusion Devices	\$ 10,000.00	\$ 10,000.00	\$2,500.00	\$2,500.00	\$4,800.00	\$4,800.00	\$6,500.00	\$6,500.00	\$60,000.00	\$60,000.00
7	1	LS		Lead Compliance Plan	\$ 3,500.00	\$ 3,500.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$7,500.00	\$7,500.00
8	1	LS		Traffic Control System	\$ 10,000.00	\$ 10,000.00	\$80,000.00	\$80,000.00	\$25,500.00	\$25,500.00	\$12,000.00	\$12,000.00	\$75,000.00	\$75,000.00
9	80	LF		Temporary Railing (Type K)	\$ 45.00	\$ 3,600.00	\$42.00	\$3,360.00	\$70.00	\$5,600.00	\$125.00	\$10,000.00	\$160.00	\$12,800.00
10	1	LS		Job Site Management	\$ 20,000.00	\$ 20,000.00	\$1,000.00	\$1,000.00	\$49,000.00	\$49,000.00	\$25,000.00	\$25,000.00	\$2,500.00	\$2,500.00
11	1	LS		Prepare and Implement WPCP	\$ 10,000.00	\$ 10,000.00	\$550.00	\$550.00	\$9,000.00	\$9,000.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00
12	260	LF		Temporary High-Visibility Fencing	\$ 4.00	\$ 1,040.00	\$14.00	\$3,640.00	\$7.00	\$1,820.00	\$15.00	\$3,900.00	\$16.00	\$4,160.00
13	475	LF		Remove Yellow Painted Traffic Strip (Hazardous Waste	\$ 10.00	\$ 4,750.00	\$25.00	\$11,875.00	\$27.00	\$12,825.00	\$25.00	\$11,875.00	\$25.00	\$11,875.00
14	110	LF		Remove Fence	\$ 15.00	\$ 1,650.00	\$10.00	\$1,100.00	\$99.00	\$10,890.00	\$95.00	\$10,450.00	\$50.00	\$5,500.00
15	2	EA		Remove Roadside Sign	\$ 200.00	\$ 400.00	\$140.00	\$280.00	\$150.00	\$300.00	\$150.00	\$300.00	\$200.00	\$400.00
16	1	EA		Relocate Roadside Sign	\$ 390.00	\$ 390.00	\$275.00	\$275.00	\$300.00	\$300.00	\$300.00	\$300.00	\$300.00	\$300.00
17	1	LS		Clearing and Grubbing	\$ 10,000.00	\$ 10,000.00	\$25,000.00	\$25,000.00	\$80,000.00	\$80,000.00	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00
18	2	EA		Tree Removal	\$ 1,000.00	\$ 2,000.00	\$1,300.00	\$2,600.00	\$800.00	\$1,600.00	\$1,600.00	\$3,200.00	\$1,000.00	\$2,000.00
19	320	CY	F	Roadway Excavation	\$ 120.00	\$ 38,400.00	\$64.00	\$20,480.00	\$469.00	\$150,080.00	\$240.00	\$76,800.00	\$150.00	\$48,000.00
20	1	LS		Finishing Roadway	\$ 10,000.00	\$ 10,000.00	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	\$20,000.00	\$20,000.00	\$2,500.00	\$2,500.00
21	250	CY	F	Aggregate Base (Class II)	\$ 135.00	\$ 33,750.00	\$100.00	\$25,000.00	\$105.00	\$26,250.00	\$220.00	\$55,000.00	\$175.00	\$43,750.00
22	430	TON		Hot Mix Asphalt (Type A)	\$ 675.00	\$ 290,250.00	\$150.00	\$64,500.00	\$135.00	\$58,050.00	\$180.00	\$77,400.00	\$200.00	\$86,000.00
23	12	TON		Minor Hot Mix Asphalt	\$ 675.00	\$ 8,100.00	\$300.00	\$3,600.00	\$142.00	\$1,704.00	\$360.00	\$4,320.00	\$350.00	\$4,200.00
24	150	SQYD		Cold Plane Asphalt Concrete Pavement	\$ 35.00	\$ 5,250.00	\$11.00	\$1,650.00	\$7.00	\$1,050.00	\$90.00	\$13,500.00	\$50.00	\$7,500.00
25	8	CY		Minor Concrete	\$ 2,500.00	\$ 20,000.00	\$2,200.00	\$17,600.00	\$1,300.00	\$10,400.00	\$4,200.00	\$33,600.00	\$1,000.00	\$8,000.00
26	2	EA		Roadside Sign - One Post	\$ 300.00	\$ 600.00	\$315.00	\$630.00	\$320.00	\$640.00	\$320.00	\$640.00	\$350.00	\$700.00
27	20	EA		Pavement Marker (Retroreflective)	\$ 11.00	\$ 220.00	\$16.00	\$320.00	\$16.00	\$320.00	\$18.00	\$360.00	\$20.00	\$400.00
28	2	EA		Crash Cushion (TAU-M)	\$ 25,300.00	\$ 50,600.00	\$30,000.00	\$60,000.00	\$34,500.00	\$69,000.00	\$41,000.00	\$82,000.00	\$50,000.00	\$100,000.00
29	880	LF		4" White Thermoplastic Traffic Striping (Detail 27B)	\$ 1.00	\$ 880.00	\$12.00	\$10,560.00	\$12.00	\$10,560.00	\$15.00	\$13,200.00	\$12.00	\$10,560.00
30	570	LF		4" Yellow Thermoplastic Traffic Striping (Detail 5,22)	\$ 1.00	\$ 570.00	\$16.00	\$9,120.00	\$16.00	\$9,120.00	\$18.00	\$10,260.00	\$16.00	\$9,120.00
31	19	SQFT		Thermoplastic Pavement Marking	\$ 4.00	\$ 76.00	\$20.00	\$380.00	\$20.00	\$380.00	\$22.00	\$418.00	\$20.00	\$380.00

ITEM NO.	QUANTITY	UNIT OF MEASURE	F, S	ITEM DESCRIPTION	I PRICE GURES)	TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)						
32	170	CY	F	Structure Excavation (Retaining Wall)	\$ 120.00	\$ 20,400.00	\$500.00	\$85,000.00	\$410.00	\$69,700.00	\$100.00	\$17,000.00	\$250.00	\$42,500.00
33	135	CY	F	Structure Backfill (Retaining Wall)	\$ 190.00	\$ 25,650.00	\$300.00	\$40,500.00	\$450.00	\$60,750.00	\$320.00	\$43,200.00	\$150.00	\$20,250.00
34	115	CY	F	Structural Concrete, Culvert	\$ 2,400.00	\$ 276,000.00	\$1,250.00	\$143,750.00	\$2,900.00	\$333,500.00	\$3,900.00	\$448,500.00	\$3,750.00	\$431,250.00
35	30	CY	F	Structural Concrete, Retaining Wall	\$ 1,525.00	\$ 45,750.00	\$2,500.00	\$75,000.00	\$3,100.00	\$93,000.00	\$3,000.00	\$90,000.00	\$3,200.00	\$96,000.00
36	29,500	LB	F	Bar Reinforcing Steel (Culvert)	\$ 3.00	\$ 88,500.00	\$1.50	\$44,250.00	\$1.30	\$38,350.00	\$1.50	\$44,250.00	\$1.50	\$44,250.00
37	6,500	LB	F	Bar Reinforcing Steel (Retaining Wall)	\$ 2.00	\$ 13,000.00	\$1.50	\$9,750.00	\$1.45	\$9,425.00	\$1.70	\$11,050.00	\$2.00	\$13,000.00
38	1	LS	F	Bridge Removal	\$ 32,725.00	\$ 32,725.00	\$19,000.00	\$19,000.00	\$23,000.00	\$23,000.00	\$45,000.00	\$45,000.00	\$250,000.00	\$250,000.00
39	122	LF	F	Concrete Barrier (Type 836)	\$ 175.00	\$ 21,350.00	\$297.00	\$36,234.00	\$500.00	\$61,000.00	\$470.00	\$57,340.00	\$400.00	\$48,800.00
40	1	LS		Mobilization	\$ 120,401.00	\$ 120,401.00	\$105,000.00	\$105,000.00	\$130,000.00	\$130,000.00	\$100,600.00	\$100,600.00	\$170,000.00	\$170,000.00
	Total Reedley Main Canal at Englehart Avenue (Items 1-40)			nal at Englehart Avenue (Items 1-40)	\$1,202,132	2.00	\$922	,754.00	\$1,378,2	14.00	\$1,380,7	763.00	\$1,711,	695.00

	Travers Creek at Lincoln Avenue Culvert (Caltrans Bridge 42C0683 / Local Bridge 10-065)				Engineer's Es	timate		1	2		3		4	
ITEM NO.	ESTIMATED QUANTITY	UNIT OF MEASURE	F, S	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)								
41	2	EA		Construction Project Funding Signs	\$ 2,500.00	\$ 5,000.00	\$1,650.00	\$3,300.00	\$1,650.00	\$3,300.00	\$1,700.00	\$3,400.00	\$2,000.00	\$4,000.00
42	1	LS		Builder's All-Risk Insurance	\$ 10,000.00	\$ 10,000.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$20,000.00	\$20,000.00
43	1	LS		Federal Trainee Program	\$ 1,340.00	\$ 1,340.00	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00	\$1,400.00	\$1,400.00	\$2,500.00	\$2,500.00
44	1	LS		Prepare Temporary Water Diversion Plan	\$ 5,000.00	\$ 5,000.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
45	1	LS		Temporary Water Diversion System	\$ 20,000.00	\$ 20,000.00	\$50,000.00	\$50,000.00	\$150,000.00	\$150,000.00	\$105,000.00	\$105,000.00	\$250,000.00	\$250,000.00
46	1,000	\$		AID Inspection Fee	\$ 1.00	\$ 1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00
47	1	LS		Bird Exclusion Plan	\$ 5,000.00	\$ 5,000.00	\$750.00	\$750.00	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00
48	1	LS		Install and Maintain Bird Exclusion Devices	\$ 10,000.00	\$ 10,000.00	\$2,500.00	\$2,500.00	\$4,800.00	\$4,800.00	\$8,000.00	\$8,000.00	\$60,000.00	\$60,000.00
49	5,830	SQFT	F	Permanent Hydroseeding	\$ 1.00	\$ 5,830.00	\$2.00	\$11,660.00	\$1.00	\$5,830.00	\$1.50	\$8,745.00	\$1.00	\$5,830.00
50	1,360	SQFT		Rolled Erosion Control Product (Netting)	\$ 1.00	\$ 1,360.00	\$2.00	\$2,720.00	\$7.00	\$9,520.00	\$3.50	\$4,760.00	\$5.00	\$6,800.00
51	12	EA		Permanent Erosion Control Establishment Inspection	\$ 2,000.00	\$ 24,000.00	\$1,100.00	\$13,200.00	\$500.00	\$6,000.00	\$1,500.00	\$18,000.00	\$750.00	\$9,000.00
52	1	EA		Survey Monument Well	\$ 2,000.00	\$ 2,000.00	\$2,000.00	\$2,000.00	\$1,100.00	\$1,100.00	\$3,200.00	\$3,200.00	\$2,500.00	\$2,500.00
53	1	LS		Lead Compliance Plan	\$ 3,500.00	\$ 3,500.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00
54	1	LS		Traffic Control System	\$ 10,000.00	\$ 10,000.00	\$75,000.00	\$75,000.00	\$28,000.00	\$28,000.00	\$18,000.00	\$18,000.00	\$75,000.00	\$75,000.00
55	80	LF		Temporary Railing (Type K)	\$ 45.00	\$ 3,600.00	\$42.00	\$3,360.00	\$70.00	\$5,600.00	\$125.00	\$10,000.00	\$160.00	\$12,800.00
56	1	LS		Job Site Management	\$ 6,500.00	\$ 6,500.00	\$1,000.00	\$1,000.00	\$70,000.00	\$70,000.00	\$30,000.00	\$30,000.00	\$2,500.00	\$2,500.00
57	1	LS		Prepare and Implement WPCP	\$ 4,000.00	\$ 4,000.00	\$500.00	\$500.00	\$11,000.00	\$11,000.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00
58	720	LF		Temporary High-Visibility Fencing	\$ 4.00	\$ 2,880.00	\$12.00	\$8,640.00	\$5.00	\$3,600.00	\$13.00	\$9,360.00	\$16.00	\$11,520.00
59	4	EA		Remove Roadside Sign	\$ 200.00	\$ 800.00	\$140.00	\$560.00	\$150.00	\$600.00	\$150.00	\$600.00	\$200.00	\$800.00
60	1	EA		Reset Roadside Sign	\$ 390.00	\$ 390.00	\$210.00	\$210.00	\$230.00	\$230.00	\$215.00	\$215.00	\$300.00	\$300.00
61	1	LS		Clearing and Grubbing	\$ 25,000.00	\$ 25,000.00	\$22,000.00	\$22,000.00	\$10,000.00	\$10,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00
62	1	EA		Tree Removal	\$ 1,000.00	\$ 1,000.00	\$1,300.00	\$1,300.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
63	1,000	CY	F	Roadway Excavation	\$ 120.00	\$ 120,000.00	\$25.00	\$25,000.00	\$78.00	\$78,000.00	\$175.00	\$175,000.00	\$150.00	\$150,000.00
64	1	LS		Finishing Roadway	\$ 10,000.00	\$ 10,000.00	\$5,500.00	\$5,500.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$2,500.00	\$2,500.00
65	210	CY	F	Aggregate Base (Class II)	\$ 135.00	\$ 28,350.00	\$110.00	\$23,100.00	\$104.00	\$21,840.00	\$240.00	\$50,400.00	\$175.00	\$36,750.00
66	380	TON		Hot Mix Asphalt (Type A)	\$ 675.00	\$ 256,500.00	\$150.00	\$57,000.00	\$140.00	\$53,200.00	\$195.00	\$74,100.00	\$210.00	\$79,800.00
67	70	TON		Minor Hot Mix Asphalt	\$ 675.00	\$ 47,250.00	\$160.00	\$11,200.00	\$140.00	\$9,800.00	\$350.00	\$24,500.00	\$340.00	\$23,800.00

ITEM NO.	QUANTITY	UNIT OF MEASURE	F, S	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)		TOTAL PRICE (IN FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)						
68	680	SQYD		Cold Plane Asphalt Concrete Pavement	\$ 35	.00	\$ 23,800.00	\$11.00	\$7,480.00	\$2.00	\$1,360.00	\$30.00	\$20,400.00	\$20.00	\$13,600.00
69	3	CY		Minor Concrete	\$ 2,500	.00	\$ 7,500.00	\$1,750.00	\$5,250.00	\$1,300.00	\$3,900.00	\$4,500.00	\$13,500.00	\$1,500.00	\$4,500.00
70	32	LF		18" Reinforced Concrete Pipe	\$ 330	.00	\$ 10,560.00	\$225.00	\$7,200.00	\$170.00	\$5,440.00	\$255.00	\$8,160.00	\$425.00	\$13,600.00
71	570	CY		Rock Slope Protection (150lb, Class III, Method B)	\$ 470	.00	\$ 267,900.00	\$400.00	\$228,000.00	\$165.00	\$94,050.00	\$310.00	\$176,700.00	\$230.00	\$131,100.00
72	185	SQYD		Rock Slope Protection Fabric (Class 8)	\$ 18	.00	\$ 3,330.00	\$6.00	\$1,110.00	\$12.00	\$2,220.00	\$26.00	\$4,810.00	\$15.00	\$2,775.00
73	50	EA		Pavement Marker (Retroreflective)	\$ 11	.00	\$ 550.00	\$16.00	\$800.00	\$16.00	\$800.00	\$17.00	\$850.00	\$20.00	\$1,000.00
74	1,145	LF		4" White Thermoplastic Traffic Striping (Detail 27B)	\$ 1	.00	\$ 1,145.00	\$12.00	\$13,740.00	\$12.00	\$13,740.00	\$14.00	\$16,030.00	\$12.00	\$13,740.00
75	573	LF		4" Yellow Thermoplastic Traffic Striping (Detail 5,22)	\$ 1	.00	\$ 573.00	\$16.00	\$9,168.00	\$16.00	\$9,168.00	\$18.00	\$10,314.00	\$16.00	\$9,168.00
76	285	CY	F	Structure Excavation (Retaining Wall)	\$ 120	.00	\$ 34,200.00	\$400.00	\$114,000.00	\$250.00	\$71,250.00	\$100.00	\$28,500.00	\$150.00	\$42,750.00
77	235	CY	F	Structure Backfill (Retaining Wall)	\$ 190	.00	\$ 44,650.00	\$300.00	\$70,500.00	\$250.00	\$58,750.00	\$250.00	\$58,750.00	\$150.00	\$35,250.00
78	205	CY	F	Structural Concrete, Culvert	\$ 2,400	.00	\$ 492,000.00	\$1,475.00	\$302,375.00	\$2,600.00	\$533,000.00	\$3,800.00	\$779,000.00	\$3,200.00	\$656,000.00
79	74	CY	F	Structural Concrete, Footing	\$ 980	.00	\$ 72,520.00	\$850.00	\$62,900.00	\$1,100.00	\$81,400.00	\$1,200.00	\$88,800.00	\$2,000.00	\$148,000.00
80	50	CY	F	Structural Concrete, Retaining Wall	\$ 1,525	.00	\$ 76,250.00	\$1,900.00	\$95,000.00	\$3,500.00	\$175,000.00	\$3,200.00	\$160,000.00	\$2,500.00	\$125,000.00
81	41,500	LB	F	Bar Reinforcing Steel (Culvert)	\$ 3	.00	\$ 124,500.00	\$1.70	\$70,550.00	\$1.70	\$70,550.00	\$2.00	\$83,000.00	\$2.00	\$83,000.00
82	11,300	LB	F	Bar Reinforcing Steel (Retaining Wall)	\$ 2	.00	\$ 22,600.00	\$1.70	\$19,210.00	\$1.65	\$18,645.00	\$2.00	\$22,600.00	\$2.00	\$22,600.00
83	1	LS	F	Bridge Removal	\$ 32,725	.00	\$ 32,725.00	\$8,310.00	\$8,310.00	\$23,000.00	\$23,000.00	\$55,000.00	\$55,000.00	\$75,000.00	\$75,000.00
84	122	LF	F	Concrete Barrier (Type 836)	\$ 175	.00	\$ 21,350.00	\$297.00	\$36,234.00	\$580.00	\$70,760.00	\$470.00	\$57,340.00	\$400.00	\$48,800.00
85	1	LS		Mobilization	\$ 204,930	.00	\$ 204,930.00	\$90,000.00	\$90,000.00	\$190,000.00	\$190,000.00	\$150,000.00	\$150,000.00	\$250,000.00	\$250,000.00
	Total Travers Creek at Lincoln Avenue (Items 41-85)				\$2,051	,383	.00	\$1,47	1,027.00	\$1,917,4	53.00	\$2,363,4	134.00	\$2,511,	783.00

	ers Creek at P rans Bridge 42				Engineer's Es	stimate	е		1	2		3		4	
ITEM NO.	ESTIMATED QUANTITY	UNIT OF MEASURE	F, S	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)		TAL PRICE FIGURES)	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)						
86	2	EA		Construction Project Funding Signs	\$ 2,500.00	\$	5,000.00	\$1,650.00	\$3,300.00	\$1,650.00	\$3,300.00	\$1,700.00	\$3,400.00	\$2,000.00	\$4,000.00
87	1	LS		Builder's All-Risk Insurance	\$ 10,000.00	\$	10,000.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$20,000.00	\$20,000.00
88	1	LS		Federal Trainee Program	\$ 1,330.00	\$	1,330.00	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00	\$1,400.00	\$1,400.00	\$2,500.00	\$2,500.00
89	1	LS		Prepare Temporary Water Diversion Plan	\$ 5,000.00	\$	5,000.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
90	1	LS		Temporary Water Diversion System	\$ 20,000.00	\$	20,000.00	\$50,000.00	\$50,000.00	\$150,000.00	\$150,000.00	\$105,000.00	\$105,000.00	\$250,000.00	\$250,000.00
91	1,000	\$		AID Inspection Fee	\$ 1.00	\$	1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00
92	1	LS		Bird Exclusion Plan	\$ 5,000.00	\$	5,000.00	\$750.00	\$750.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
93	1	LS		Install and Maintain Bird Exclusion Devices	\$ 10,000.00	\$	10,000.00	\$2,500.00	\$2,500.00	\$4,800.00	\$4,800.00	\$7,000.00	\$7,000.00	\$60,000.00	\$60,000.00
94	3,220	SQFT	F	Permanent Hydroseeding	\$ 1.00	\$	3,220.00	\$2.00	\$6,440.00	\$1.00	\$3,220.00	\$2.50	\$8,050.00	\$1.00	\$3,220.00
95	1,450	SQFT		Rolled Erosion Control Product (Netting)	\$ 1.00	\$	1,450.00	\$2.00	\$2,900.00	\$7.00	\$10,150.00	\$4.00	\$5,800.00	\$5.00	\$7,250.00
96	12	EA		Permanent Erosion Control Establishment Inspection	\$ 2,000.00	\$	24,000.00	\$1,100.00	\$13,200.00	\$500.00	\$6,000.00	\$1,400.00	\$16,800.00	\$750.00	\$9,000.00
97	1	LS		Lead Compliance Plan	\$ 3,500.00	\$	3,500.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00
98	1	LS		Traffic Control System	\$ 10,000.00	\$	10,000.00	\$55,000.00	\$55,000.00	\$30,000.00	\$30,000.00	\$18,000.00	\$18,000.00	\$75,000.00	\$75,000.00
99	80	LF		Temporary Railing (Type K)	\$ 45.00	\$	3,600.00	\$42.00	\$3,360.00	\$70.00	\$5,600.00	\$125.00	\$10,000.00	\$160.00	\$12,800.00
100	1	LS		Job Site Management	\$ 6,500.00	\$	6,500.00	\$1,000.00	\$1,000.00	\$70,000.00	\$70,000.00	\$25,000.00	\$25,000.00	\$2,500.00	\$2,500.00
101	1	LS		Prepare and Implement WPCP	\$ 4,000.00	\$	4,000.00	\$500.00	\$500.00	\$8,000.00	\$8,000.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00
102	430	LF		Temporary High-Visibility Fencing	\$ 4.00	\$	1,720.00	\$12.00	\$5,160.00	\$6.00	\$2,580.00	\$12.00	\$5,160.00	\$16.00	\$6,880.00
103	175	LF		Remove Yellow Painted Traffic Strip (Hazardous Waste	\$ 10.00	\$	1,750.00	\$25.00	\$4,375.00	\$27.00	\$4,725.00	\$27.00	\$4,725.00	\$25.00	\$4,375.00
104	60	LF		Relocate Fence	\$ 26.00	\$	1,560.00	\$48.00	\$2,880.00	\$88.00	\$5,280.00	\$85.00	\$5,100.00	\$75.00	\$4,500.00

ITEM NO.	QUANTITY	UNIT OF MEASURE	F, S	ITEM DESCRIPTION	ITEM PRICE (IN FIGURES)	TOTAL PRICE (IN FIGURES)								
105	1	EA		Relocate Gate	\$ 1,300.00	\$ 1,300.00	\$1,200.00	\$1,200.00	\$7,800.00	\$7,800.00	\$8,000.00	\$8,000.00	\$3,500.00	\$3,500.00
106	1	EA		Remove Roadside Sign	\$ 200.00	\$ 200.00	\$140.00	\$140.00	\$150.00	\$150.00	\$150.00	\$150.00	\$200.00	\$200.00
107	1	LS		Clearing and Grubbing	\$ 10,000.00	\$ 10,000.00	\$27,000.00	\$27,000.00	\$10,000.00	\$10,000.00	\$29,000.00	\$29,000.00	\$35,000.00	\$35,000.00
108	11	EA		Tree Removal	\$ 1,000.00	\$ 11,000.00	\$550.00	\$6,050.00	\$1,900.00	\$20,900.00	\$1,700.00	\$18,700.00	\$1,000.00	\$11,000.00
109	280	CY	F	Roadway Excavation	\$ 120.00	\$ 33,600.00	\$69.00	\$19,320.00	\$150.00	\$42,000.00	\$175.00	\$49,000.00	\$350.00	\$98,000.00
110	1	LS		Finishing Roadway	\$ 10,000.00	\$ 10,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$2,500.00	\$2,500.00
111	178	CY	F	Aggregate Base (Class II)	\$ 135.00	\$ 24,030.00	\$124.00	\$22,072.00	\$130.00	\$23,140.00	\$220.00	\$39,160.00	\$175.00	\$31,150.00
112	310	TON		Hot Mix Asphalt (Type A)	\$ 675.00	\$ 209,250.00	\$150.00	\$46,500.00	\$310.00	\$96,100.00	\$195.00	\$60,450.00	\$210.00	\$65,100.00
113	22	TON		Minor Hot Mix Asphalt	\$ 675.00	\$ 14,850.00	\$240.00	\$5,280.00	\$155.00	\$3,410.00	\$305.00	\$6,710.00	\$300.00	\$6,600.00
114	10	SQYD		Cold Plane Asphalt Concrete Pavement	\$ 35.00	\$ 350.00	\$150.00	\$1,500.00	\$1.00	\$10.00	\$600.00	\$6,000.00	\$500.00	\$5,000.00
115	1	LS		Structural Concrete (Concrete Channel Lining)	\$ 40,000.00	\$ 40,000.00	\$50,000.00	\$50,000.00	\$60,000.00	\$60,000.00	\$75,000.00	\$75,000.00	\$100,000.00	\$100,000.00
116	6	CY		Minor Concrete	\$ 2,500.00	\$ 15,000.00	\$2,000.00	\$12,000.00	\$800.00	\$4,800.00	\$4,500.00	\$27,000.00	\$1,000.00	\$6,000.00
117	400	LB		Bar Reinforcing Steel	\$ 10.00	\$ 4,000.00	\$2.53	\$1,012.00	\$3.00	\$1,200.00	\$3.00	\$1,200.00	\$2.00	\$800.00
118	1	LS		Safety Access Ladder	\$ 3,000.00	\$ 3,000.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00	\$4,200.00	\$4,200.00	\$7,500.00	\$7,500.00
119	1	EA		Roadside Sign - One Post	\$ 300.00	\$ 300.00	\$315.00	\$315.00	\$340.00	\$340.00	\$320.00	\$320.00	\$350.00	\$350.00
120	40	CY		Rock Slope Protection (300lb, Class IV, Method B)	\$ 220.00	\$ 8,800.00	\$600.00	\$24,000.00	\$225.00	\$9,000.00	\$820.00	\$32,800.00	\$375.00	\$15,000.00
121	150	SQYD		Rock Slope Protection Fabric (Class 8)	\$ 18.00	\$ 2,700.00	\$6.00	\$900.00	\$12.00	\$1,800.00	\$20.00	\$3,000.00	\$15.00	\$2,250.00
122	15	LF		Fence	\$ 60.00	\$ 900.00	\$82.00	\$1,230.00	\$62.00	\$930.00	\$85.00	\$1,275.00	\$250.00	\$3,750.00
123	1	EA		Gate	\$ 2,300.00	\$ 2,300.00	\$7,800.00	\$7,800.00	\$7,800.00	\$7,800.00	\$8,000.00	\$8,000.00	\$4,200.00	\$4,200.00
124	18	EA		Pavement Marker (Retroreflective)	\$ 11.00	\$ 198.00	\$16.00	\$288.00	\$16.00	\$288.00	\$18.00	\$324.00	\$20.00	\$360.00
125	1	EA		Crash Cushion (TAU-M)	\$ 25,300.00	\$ 25,300.00	\$41,000.00	\$41,000.00	\$45,000.00	\$45,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00
126	300	LF		4" White Thermoplastic Traffic Striping (Detail 27B)	\$ 1.00	\$ 300.00	\$12.00	\$3,600.00	\$12.00	\$3,600.00	\$15.00	\$4,500.00	\$12.00	\$3,600.00
127	175	LF		4" Yellow Thermoplastic Traffic Striping (Detail 22)	\$ 1.00	\$ 175.00	\$16.00	\$2,800.00	\$16.00	\$2,800.00	\$18.00	\$3,150.00	\$16.00	\$2,800.00
128	255	CY		Structure Excavation (Retaining Wall)	\$ 120.00	\$ 30,600.00	\$400.00	\$102,000.00	\$439.00	\$111,945.00	\$85.00	\$21,675.00	\$150.00	\$38,250.00
129	215	CY		Structure Backfill (Retaining Wall)	\$ 190.00	\$ 40,850.00	\$300.00	\$64,500.00	\$590.00	\$126,850.00	\$300.00	\$64,500.00	\$150.00	\$32,250.00
130	150	CY		Structural Concrete, Culvert	\$ 2,400.00	\$ 360,000.00	\$1,250.00	\$187,500.00	\$2,900.00	\$435,000.00	\$4,632.00	\$694,800.00	\$3,300.00	\$495,000.00
131	40	CY		Structural Concrete, Retaining Wall	\$ 1,525.00	\$ 61,000.00	\$2,500.00	\$100,000.00	\$3,900.00	\$156,000.00	\$3,200.00	\$128,000.00	\$2,800.00	\$112,000.00
132	42,300	LB		Bar Reinforcing Steel (Culvert)	\$ 3.00	\$ 126,900.00	\$1.40	\$59,220.00	\$1.40	\$59,220.00	\$1.50	\$63,450.00	\$1.50	\$63,450.00
133	8,900	LB		Bar Reinforcing Steel (Retaining Wall)	\$ 2.00	\$ 17,800.00	\$1.80	\$16,020.00	\$1.75	\$15,575.00	\$2.00	\$17,800.00	\$2.00	\$17,800.00
134	1	LS		Bridge Removal	\$ 32,725.00	\$ 32,725.00	\$25,000.00	\$25,000.00	\$23,000.00	\$23,000.00	\$50,000.00	\$50,000.00	\$75,000.00	\$75,000.00
135	112	LF		Concrete Barrier (Type 836)	\$ 175.00	\$ 19,600.00	\$297.00	\$33,264.00	\$650.00	\$72,800.00	\$480.00	\$53,760.00	\$400.00	\$44,800.00
136	1	LS		Mobilization	\$ 136,036.00	\$ 136,036.00	\$95,000.00	\$95,000.00	\$180,000.00	\$180,000.00	\$153,000.00	\$153,000.00	\$200,000.00	\$200,000.00
		Total Trav	ers Cı	reek at Parlier (Items 86-136)	\$1,361,694	1.00	\$1,12	4,576.00	\$1,849,1	13.00	\$1,943,3	359.00	\$2,043,	735.00

TOTAL ITEMS (1 - 136)	\$4,615,209.00	\$3,518,357.00	\$5,144,780.00	\$5,687,556.00	\$6,267,213.00
-----------------------	----------------	----------------	----------------	----------------	----------------

F - Final Pay Item